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using Microsoft.VisualStudio.TestTools.UnitTesting;
using A9;

using System;

using System.Collections.Generic;

using System.Lling;

using System.Text;

using System.Threading.Tasks;

using TestCommon;

namespace A9.Tests

{
[TestClass()]
public class GradedTests
{
[TestMethod(), Timeout(1600)]
[DeploymentItem{"TestData"™, "A9 TestData")]
— references | Sauleh Eetemadi, 6 days ago | 1 author, 1 change
public void SolveTest()
{
Processor[] problems = new Processor[] {
new ConvertIntoHeap("TD1"),
new ParallelProcessing("TD2"),
new MergingTables("TD3")
b5
foreach (var p in problems)
{
TestTools.RunLocalTest("A9", p.Process, p.TestDataMame);
}
}
¥
}
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Convert array into heap
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using TestCommon;
using System;

namespace A9

1 reference | Sauleh Eetemadi, 6 days ago | 1 author, 1 change
public class ConvertIntoHeap : Processor

{
0 references | Sauleh Eetemadi, 6 days ago | 1 author, 1 change
public ConvertIntoHeap(string testDataMName) : base(testDataName) { }

3 references | Sauleh Eetemadi, 6 days ago | 1 author, 1 change
public override string Process(string inStr) =>
TestTools.Process(inStr, ( <long[], <long, long>[]>)Solve);

1 reference | Sauleh Eetemadi, 6 days ago | 1 author, 1 change
public Tuple<long, long>[] Solve(
long[] array)

//Write your code here
return new Tuple<long, long>[]
{
Tuple.Create<long, long>(1, 1)
b5



Parallel processing Y
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using System;
using TestCommon;

namespace A9
1 reference | Sauleh Eetemadi, 6 days ago | 1 author, 1 change
public class ParallelProcessing : Processor
0 references | Sauleh Eetemadi, 6 days ago | 1 author, 1 change

public ParallelProcessing(string testDatalName) : base(testDataName) { }

3 references | Sauleh Eetemadi, 6 days ago | 1 author, 1 change
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long[], Tuple<long, long>[]1>)Solve);

1 reference | Sauleh Eetemadi, 6 days ago | 1 author, 1 change
public Tuple<long, long>[] Solve(long threadCount, long[] jobDuration)
{
//Write your code here
return new Tuple<long, long>[]
{
Tuple.Create<long, long>(1, 1)

1;



Merging tables Y
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using System;
using TestCommon;

namespace A9

{
cetemadi, o d 1a or, 1 change
public class HerglngTables : Processor
{
0 references | Sauleh Eetemadi, 6 days ago | 1 author, 1 change
public MergingTables(string testDataName) base(testDataName) { }
3 references | Sauleh Eetemadi, 6 days ago | 1 author, 1 change
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long[], long[], long[], long[]>)Solve);
''''''' e | sauleh Eete 6 da : uther, 1 change
{
//Write your code here
return new long[] { };
}
¥
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